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����� 6WUDQ\�X]DYĜHO\�GQH��������������QD�]iNODGČ�UR]KRGQXWt�R�YêEČUX�GRGDYDWHOH�GOH�������]iNRQD�
þ�� ��������� 6E��� R� ]DGiYiQt� YHĜHMQêFK� ]DNi]HN�� YH� ]QČQt� SR]GČMãtFK� SĜHGSLVĤ� �GiOH� MHQ�
Ä==9=³��� N� YHĜHMQp� ]DNi]FH� ]DGiYDQp� GOH� �� ��� ==9=� Y�RWHYĜHQpP� QDGOLPLWQtP� Ĝt]HQt�
V�Qi]YHP�Ä9é52%$�$�'2'È9.<�9<%5$1é&+�359.ģ�0ċ676.e+2�02%,/,Èě(³�
D�Y�VRXODGX�V�2EþDQVNêP�]iNRQtNHP�5iPFRYRX�GRKRGX��þ��5iPFRYp�GRKRG\�7+03����������
þ�� 5iPFRYp� GRKRG\� 'RGDYDWHOH�� ������������� MHMtPå� SĜHGPČWHP� MH� ]DMLãWČQt� GRGiYHN�
Y\EUDQêFK� 3UYNĤ�PRELOLiĜH� SUR� 7+03� 'RGDYDWHOHP� GOH� SRGPtQHN� VMHGQDQêFK� Y�5iPFRYp�
GRKRGČ��

����� 9�VRXODGX� V�þO�� �� RGVW�� ����� 5iPFRYp� GRKRG\� E\O� 'RGDYDWHO� SRYLQHQ� GR� ãHVWL� ���� WêGQĤ� RG�
~þLQQRVWL�5iPFRYp�GRKRG\�GRGDW�7+03�Y]RUHN�]DVWiYNRYpKR�SĜtVWĜHãNX�$������D� WR�YþHWQČ�
YêUREQt� D� WHFKQRORJLFNp� GRNXPHQWDFH� D� SURWRW\SX� 0RQWiåQtKR� UiPX�� 6SOQČQt� 5iPFRYRX�
GRKRGRX�VWDQRYHQêFK�SDUDPHWUĤ�E\OR�SRYLQQRVWt�GOH�FLWRYDQpKR�XVWDQRYHQt�RYČĜLW�7+03�GR�
þW\Ĝ����� WêGQĤ�RG�SĜHGiQt�Y]RUNX�'RGDYDWHOHP��'OH�XYHGHQpKR�XVWDQRYHQt�5iPFRYp�GRKRG\�
GiOH�SODWt��åH�Y�SĜtSDGČ�]MLãWČQt�MDNêFKNROL�QHGRVWDWNĤ�Y�SĜHGORåHQpP�Y]RUNX�QHER�YDG�PRQWiåH�
DQHER�SURWRW\SX�0RQWiåQtKR�UiPX�7+03�Y\]YH�'RGDYDWHOH�N�QiSUDYČ�D�N�SĜHGORåHQt�QRYpKR�
Y]RUNX�DQHER�SURWRW\SX�0RQWiåQtKR�UiPX��3ĜHGiQt�D�]NRXãND�QRYpKR�Y]RUNX�DQHER�SURWRW\SX�
0RQWiåQtKR� UiPX� SUREČKQH� EH]� ]E\WHþQpKR� RGNODGX�� QHMSR]GČML� GR� WĜt� WêGQĤ� RG� XSODWQČQt�
SRåDGDYNX� N� QiSUDYČ�� 3RNXG� L� RSDNRYDQi� ]NRXãND� Y]RUNX� SRXNiåH� QD� QHGRVWDWN\� Y]RUNX� D�
YDG\�PRQWiåH�DQHER�SURWRW\SX�0RQWiåQtKR�UiPX��MH�7+03�RSUiYQČQD�RG�5iPFRYp�GRKRG\�
RGVWRXSLW��

����� =D� ~þHOHP� VSOQČQt� YêãH� XYHGHQp� SRYLQQRVWL� 'RGDYDWHOH�� SĜHGDO� GQH� ����������� 'RGDYDWHO�
7+03�Y]RUHN�SĜtVWĜHãNX�QD�]iNODGČ�SĜHGiYDFtKR�SURWRNROX�]H�GQH����������������9�VRXODGX�V�
þO�� �� RGVW�� �����5iPFRYp� GRKRG\�7+03�Y\]YDOD� GQH� �����������'RGDYDWHOH� N�QiSUDYČ� D� N�
SĜHGORåHQt�QRYpKR�Y]RUNX�DQHER�SURWRW\SX�0RQWiåQtKR�UiPX�GQH��������������

����� 6�RKOHGHP�QD�YêãH�XYHGHQp�D�Y�QiYD]QRVWL�QD�SURYHGHQRX�]NRXãNX�Y]RUNX�GOH�þO����RGVW������
5iPFRYp� GRKRG\�� Y�UiPFL� Qtå� VH� XNi]DOD� SĜHGHP�QHSĜHGYtGDWHOQi� SRWĜHED�XSUDYLW� 3URMHNþQt�
GRNXPHQWDFL�� NWHURX� QHPRKO\� 6WUDQ\� L� SĜHV� Y\YLQXWt�PD[LPiOQtKR� ~VLOt� SĜHGHP� SĜHGYtGDW� D�
NWHUi� YH� VP\VOX�þO�� �� RGVW�� ����� 5iPFRYp� GRKRG\� QHQt� 6WUDQDPL� SRYDåRYiQD� ]D�PDWHULiOQt�
]PČQX��X]DYtUDMt�6WUDQ\�QtåH�XYHGHQpKR�GQH��PČVtFH� D� URNX�SRVWXSHP�GOH� þO�� ���� RGVW�� �����
5iPFRYp� GRKRG\� WHQWR� 'RGDWHN� þ�� �� N�5iPFRYp� GRKRGČ� �GiOH� MHQ� Ä'RGDWHN³��� MHKRå�
SĜHGPČWHP�MH�]PČQD�5iPFRYp�GRKRG\�VSRþtYDMtFt�Y�XSĜHVQČQt�Y\EUDQêFK�YêNUHVĤ�� MHQå�MVRX�
VRXþiVWt�3ĜtORK\�þ����D�WČPWR�~SUDYiP�QDYD]XMtFt�XSĜHVQČQt�3ĜtORK\�þ����5iPFRYp�GRKRG\��

����� 6WUDQ\�VH�QD�]PČQČ�5iPFRYp�GRKRG\�GRKRGO\�V�WtP��åH�SURYHGHQRX�]PČQRX�EXGRX�VSOQČQ\�
SRGPtQN\�SUR�]PČQX�]iYD]NX�]H�VPORXY\�GH�PLQLPLV�GOH�������RGVW����==9=��6RXþDVQČ�WDWR�
]PČQD�QHSĜHGVWDYXMH�SRGVWDWQRX�]PČQX�5iPFRYp�GRKRG\��MHOLNRå�VH�MHGQi�R�REGREQp�SOQČQt��
MHMtå�SRWĜHED�Y]QLNOD�Y�GĤVOHGNX�QHSĜHGYtGDQêFK�RNROQRVWt��
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���� 3ĜtORKD� þ�� �� 5iPFRYp� GRKRG\� VH� GRSOĖXMH� R� GtOþt� YêNUHV\�� NWHUp� WYRĜt� 3ĜtORKX� þ�� �� WRKRWR�
'RGDWNX��



Ϯ͘Ϯ� 6RXþiVWt� GtOþtFK� YêNUHVĤ� YH� VP\VOX� RGVW�� ���� WRKRWR� þOiQNX� 'RGDWNX� MH� PM�� YêNUHV� N� 93�
&/���3=������ 6POXYQt� VWUDQ\� VH� GRKRGO\�� åH� N�WpWR� SRORåFH� EXGH� SĜHGORåHQD� SRX]H�
]MHGQRGXãHQi� YHU]H� GRNXPHQWDFH�� QHERĢ� WDWR� MH� FKUiQČQD� REFKRGQtP� WDMHPVWYtP� MHMtKR�
YêUREFH���

���� 3ĜtORKD� þ�� �� 5iPFRYp� GRKRG\� VH� Y�QiYD]QRVWL� QD� GRSOQČQt� 3ĜtORK\� þ�� �� 5iPFRYp� GRKRG\�
XYHGHQp�Y�RGVWDYFL������WRKRWR�þOiQNX�WRKRWR�'RGDWNX�Y�SOQpP�UR]VDKX�QDKUD]XMH�3ĜtORKRX�þ��
��WRKRWR�'RGDWNX��
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���� 6WUDQ\�SURKODãXMt��åH�SRVWXSRYDO\�Y�VRXODGX�V�þO�����5iPFRYp�GRKRG\��

���� 9HãNHUp�SRMP\�þL�GHILQLFH��SRNXG�]�NRQWH[WX�WRKRWR�'RGDWNX�QHSO\QH�QČFR�MLQpKR��PDMt�VWHMQê�
Yê]QDP�MDNR�Y�5iPFRYp�GRKRGČ���

���� 2VWDWQt�XVWDQRYHQt�5iPFRYp�GRKRG\�]ĤVWiYDMt�WtPWR�'RGDWNHP�QH]PČQČQi�D�Y�SODWQRVWL���

���� %XGH�OL� QHER� VWDQH�OL� VH�NWHUpNROL� XVWDQRYHQt� WRKRWR�'RGDWNX�QHSODWQp�QHER�QHY\PDKDWHOQp��
QHER� SRNXG� E\� QČNWHUi� XVWDQRYHQt� FK\EČOD�� QH]SĤVREXMH� WR� QHSODWQRVW� DQL� QHY\PDKDWHOQRVW�
RVWDWQtFK� XVWDQRYHQt� WRKRWR� 'RGDWNX�� SRNXG� MH� WDNRYp� XVWDQRYHQt� RGGČOLWHOQp� RG� WRKRWR�
'RGDWNX�MDNR�FHONX��SĜL�]DFKRYiQt�~þHOX�WRKRWR�'RGDWNX��6WUDQ\�VH�]DYD]XMt�EH]�]E\WHþQpKR�
RGNODGX� SR� ]MLãWČQt� QHGRVWDWNĤ� YH� YêãH� XYHGHQpP� VP\VOX�� QDKUDGLW� WDNRYp� XVWDQRYHQt�
XVWDQRYHQtP�� NWHUp� EXGH� VYêP� REVDKHP� D� ~þHOHP� FR� PRåQi� QHMEOLåãt� REVDKX� D� ~þHOX�
XVWDQRYHQt�QHSODWQpKR�QHER�QHY\PDKDWHOQpKR��

���� 6WUDQ\�EHURX�QD�YČGRPt��åH�WHQWR�'RGDWHN�SRGOpKi�SRYLQQRVWL�MHKR�XYHĜHMQČQt�SURVWĜHGQLFWYtP�
UHJLVWUX� VPOXY� Y� VRXODGX� VH� ]iNRQHP� þ�� ��������� 6E��� R� ]YOiãWQtFK� SRGPtQNiFK� ~þLQQRVWL�
QČNWHUêFK�VPOXY��XYHĜHMĖRYiQt� WČFKWR�VPOXY�D�R�UHJLVWUX�VPOXY��]iNRQ�R�UHJLVWUX�VPOXY���YH�
]QČQt�SR]GČMãtFK�SĜHGSLVĤ��6WUDQ\�EHURX�GiOH�QD�YČGRPt��åH�WHQWR�'RGDWHN�QDEêYi�~þLQQRVWL�
QHMGĜtYH� GQHP� MHKR� XYHĜHMQČQt� SURVWĜHGQLFWYtP� UHJLVWUX� VPOXY�� 7+03� ]DãOH� WHQWR� 'RGDWHN�
VSUiYFL� UHJLVWUX� VPOXY�N�XYHĜHMQČQt�EH]�]E\WHþQpKR�RGNODGX��QHMSR]GČML�YãDN�GR� WĜLFHWL� �����
GQĤ� RG� MHKR� X]DYĜHQt�� 1HEXGH�OL� WHQWR� 'RGDWHN� ]DVOiQ� N�XYHĜHMQČQt� D�QHER� XYHĜHMQČQ�
SURVWĜHGQLFWYtP� UHJLVWUX� VPOXY�� QHQt� åiGQi� ]H� 6WUDQ� RSUiYQČQD� SRåDGRYDW� SR� GUXKp� 6WUDQČ�
QiKUDGX�ãNRG\�DQL�MLQp�~MP\��NWHUi�E\�Mt�Y�WpWR�VRXYLVORVWL�Y]QLNOD�QHER�Y]QLNQRXW�PRKOD���

���� 6WUDQ\�SURKODãXMt��åH�VNXWHþQRVWL�XYHGHQp�Y�WRPWR�'RGDWNX�QHSRYDåXMt�]D�REFKRGQt�WDMHPVWYt�
YH�VP\VOX�������2EþDQVNpKR�]iNRQtNX�D�XGČOXMt�VYROHQt�N�MHMLFK�XåLWt�D�]YHĜHMQČQt��V�YêMLPNRX�
RVREQtFK�~GDMĤ��

���� 1HGtOQRX�VRXþiVWt�WRKRWR�'RGDWNX�MVRX�W\WR�SĜtORK\��

3ĜtORKD�þ����±�3URMHNþQt�GRNXPHQWDFH���GRSOQČQt�

3ĜtORKD�þ������-HGQRWNRYi�FHQD�3UYNĤ�PRELOLiĜH��

���� 7HQWR� 'RGDWHN� MH� Y\KRWRYHQ� YH� WĜHFK� ���� VWHMQRSLVHFK�� ]�QLFKå� 7+03� REGUåt� GYČ� ����
Y\KRWRYHQt� D�'RGDYDWHO� REGUåt� MHGQR� ���� Y\KRWRYHQt�� 3RNXG� EXGH� WHQWR�'RGDWHN� X]DYĜHQ� Y�
HOHNWURQLFNp� SRGREČ�� EXGH� Y\KRWRYHQ� Y�MHGQRP� ���� VWHMQRSLVH�� QD� QČPå� EXGRX� XYHGHQ\�
SRGSLV\�]iVWXSFĤ�6WUDQ�Y�HOHNWURQLFNp�SRGREČ��

���� 6WUDQ\� SURKODãXMt�� åH� VL� FHOê� WHQWR� 'RGDWHN� GĤNODGQČ� D� ĜiGQČ� SĜHþHWO\�� MHKR� REVDKX� ]FHOD�
SRUR]XPČO\��MH�MLP�EH]�SRFK\EQRVWt�VUR]XPLWHOQê�D�XUþLWê��åH�MLP�QHMVRX�Y�GHQ�X]DYĜHQt�WRKRWR�
'RGDWNX�]QiP\�åiGQp�GĤYRG\��SUR�NWHUp�E\�WHQWR�'RGDWHN�QHPRKO�EêW�ĜiGQČ�SOQČQ�QHER�NWHUp�
E\� ]SĤVRERYDO\� QHSODWQRVW� WRKRWR� 'RGDWNX�� D� åH� MHKR� REVDK� MH� SURMHYHP� MHMLFK� SUDYp��
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